1

1. JKERK#EREXR
KERKBIEEEDER (2D 1)

] 1 # . B L & [z N
a8 kK F 5 24—503 24—504
T X F & =58 =58
ES E3 £ 3 KERKEREE (FAEEEKERKERSEE
# K B 1A F A REF1464E6 B BFI434E11 B
_ £ # % 2 R EIREE
B Za & AR 2843 H23H FR2843H98
@ = % & b 2944 A ~ FR2TE4A ~
] TR394E3 A FR2843 A
HE &R 304 FR324E
B #® ok A0 1,083, 301 404, 369
—HEBXABKE () 289,516 139, 850
B —AgkmBkE (M) 314, 700 150, 380
K B GINBE) ABINRERK, B HFTL|ES L
=FRK. ERJIGAOE
[’ K D & 5 =K FiK
F K Ak 2RA1B SRAB
ERIEKE (Fn) 51,968 21, 804
ERIHAIK (FK) B (Fn') 51,925 21, 657
wxe| EHKE (Fnd) 50, 791 21, 449
m R| EBYKE (Fn) 1,134 208
5 |FK HIUKE (Fm®) 50, 693 21, 444
gnR| EIUKE (Fnd) 98 5
sl mESREEsn ('/8) 289,516 139, 850
—BEAKKE M) 160, 649 (8823A) 74,865 (8A12H)
X T B EHEKE ) 142, 260 59, 334
x|l B B E (%) 55.5 53.5
L& % (% 88.6 79.3
= " 3 E= (%) 97.8 99.0
@l B W E (% 97.6 99.0
Fl A8 = (%) 99.9 99.3
HHAEM (F/m’) 116 100
#BKIREE (FH) 5, 860, 695 2,145, 320
#HAKEM (H/m) 118 121
HwER (FMA) 6, 020, 447 2,585, 600

20



